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%:a(—ﬁﬁg)@ y = ax+c (c: HiLY )

Yy
A
/
/ ;0 )
4 ’ / .
! / y, ’
/ / / /
4 / ’ /
’ ’ y ¢
/ / ’ ’
/ / Y ’
4 ’ / ’
4 / 7 /
/ ’ ’ /
,’ ’ y /
- X
/ ’ y; /
/ ’ / ’
/ ’ y, ’
/ ’ / /
/ ¥ /
’ ’




4. F

IDEEERT WO AIEN

X +y =r° (r:—TD¥)
U X C 0 &35y

@%%@Eﬁ
CES

 ARLEOAK YIZHTFE

2X+ 2yﬂ= 0
dx

L, Wy X

dx y

— ydy = —xdx — xdx+ ydy =0
—>J‘xdx+J‘ydy=—ﬁf‘lﬁsc2 ,

| EROEE L_zj
y

WAWALcE=ITrD{E
(2 e HRIDFEDES

AE%+EW=& \
2 2

> X%+ y? = (J20)? =12




5. &8

IDEEERIT MO AENIL?

2 2

:2 + L1 (@azb: %)

02

U X C 1 2855

2
ﬂ:_zx(éj
ax y \a




y — _kv (v(t) : REIESEL. k>0 — &)
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IogeM+cl_—kt+c (c.,C, T EE)

>v=+e’-e“ 5v=c-e(c'=c,—c,c=+e)

—ﬁgﬁg(general solution)
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*
v(t) =v, e At I—dx log, X+ C (C: R iE40)

fﬁyﬂiﬁﬁ(spedﬁc solution) .
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ma(t) = F(x,v;t) (CoTRIRTEDEEEERD)
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ma =F «<v=v(l), F=F(x,v;t) atany (xt)
d’x .
mF =F <« x=x(t), F = F(x,dx/dt;t) atany (xt)
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F = constant value = F,
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d*x EHA BB OB HER
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X(t) = Asin(wt + 6,), A 6, F877 EEX
or X(t) = Acos(wt +6,)
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